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1. Find Maclaurin’s Series for f(x) = e* up to four terms.

F(x)=e* — f(0)=e=1

Taking Higher Derivative
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2. Find Maclaurin’s Series for f(x) = sinx up to four terms.

f(x) =sinx ——» f(0)=sin0=0
Taking Higher Derivative
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3. Find Maclaurin’s Series for f(x) = cos x  up to four terms.

f(x)=cosx —— » f(0)=cos0=1

Taking Higher Derivative
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Using Maclaurin’s Series
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4. Find Maclaurin’s Series for f(x) = sinh x  up to four terms.

f(x) =sinhx —— > f(0) =sinh0 =0
Taking Higher Derivative

d ()_d u
dxfx—dxsmx

f'=coshx ——» f'(0) =coshOx =1 ——
f" =sinhx —» f"(0)=sinh0=0 ——»
f""=coshx ——» f""(0)=cosh0=1 ——
f% =sinhx ——» f?(0) =sinh0 =0 ——»

Using Maclaurin’s Series

4-

f(x)—f(0)+f(0) +f”(0) +f”’(0) +f“’(0)+—+




1.x 0.x% (1).x3 0.x*
1! + 2! + 3! + 4!

fx)=0+

] _ x3 x5 X7
smhx—x+§+§+ﬁ+...

X x> X

smhx=x+§+a+%+--- Ans. .

5. Find Maclaurin’s Series for f(x) = cosh x  up to four terms.

f(x) =coshx ———» f(0)=cosh0=1 —-—+—>
Taking Higher Derivative
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1. Find Taylor Series for f(x) = e*
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Using Taylor Series
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2. Find Taylor Series for f(x) = sin x
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Taking Higher Derivative
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3. Find Taylor Series for f(x) = cos x
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Taking Higher Derivative
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5. Find Taylor Series for f(x) = x> +x* , x=a=1upto5terms.
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